13000 GeV pp tt
e

M(ttbar) (ATLAS semileptonic ttbar)

102 = ® ATLAS =
~ £ Pythia 6.425 350 =
~  --&-- Pythia 6.425 351 -
A Pythia 6.425 353 i

- Pythia 6.425 354
-- Pythia 6.425 355

Rivet 3.1.10, = 300k events

1/od?o/ dm™d |y vGev]
|_\
o

mcplots.cern.ch [arXiv:1306.3436]

107* =
i | | | | | | ' | | | | | | |
! ' | ' ' ' ' | ' ' ' ' -
2 | 32
o =
<E — N ]
S R .
< B = 11 Sae 1 7
1 BP0 R A 1
S TR R e i
2 1 - ' i
0.5 —0.5
) , ) , | , ) , ) , ) , ) , | , ) , ) , ) , ) , |
1000 2000 3000

tbar

m2 Y 1Gevy, [y™" in [0,0.65]



	Contents
	Page 1


